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The figures in the inargin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following as directed: 1x7=7
ot SR oeTe fral Tz Oes i e

(@ Which of the following ions has
highest radii ?

TS 3l SFPIRI (FIAIDIR % S0IZeLs
QR 2

Fe2+’ C02+’ Ni2+’ Cl‘2+
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(b) What is ambidentate ligand ? Give one

(c)

(d)

example.

GfHTeres e e b vz fan

Oxide of is used as catalyst for

manufacturing H,SO,.

(Fill in the blank)

I SFIRGTF H,SO, (SAR IR

S5 Z51e IR I |
(T HZ 979 F9)

Choose the correct option :

8% eIt g Sheneat ¢

Dominance of strong repulsive forces
among the molecules of gases —

IR ST MR Sy R o1 eropg—

(i) depends on Z and z=1
Z 9 ¢%° RS I@ o 2= g
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(e)

(9)
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(i) depends on Z and Z> 1

Z3 ¢9E RESI IR O 2> 1

(iij) depends on Z and Z<1

Z3 ¢oi3e REI R wIF Z< 1

(iv) Does not depend on Z

Z 3 @99 16T g

What is the SI unit of viscosity ?

AIFOR SI 35 & 9

How covalent radii vary in a period ?

TS W A R @Bre 7 2w ¢

What is the effect of témperature on
viscosity of a liquid ?

ST AT 397 THoR & 9OR” AE ¢
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2.

Answer all question: 2x4=8

Wﬁaﬁm@mﬂz

(@)

(b)

(c)

Ionization energy of oxygen is less

than that of nitrogen. Explain.

SRR SRR R ARG T
[ I

What do you mean by ionization
isomerism in co-ordination complex ?
Give one example.

R AGEA (I AR el IR
& = <6t Tmrmd faa

If the value of Van der Waal’s constant
“@ for a gas is zero, can it be
liquified ? Justify your answer.

O ©R IR &Y ‘@’ I (I GO (o=

AR W X OIRGIF STPS IRT o[
TR ¢ & AR
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(d) Find the Miller indices for a plane
(2a, -3b, —c).

wwed (2a, -3b, —¢) I fAI] qsfw A
1

3. Answer any five of the following: 5,15
were ARTER Rewicar ofshre ©es faan s

(a) Define atomic radius. Discuss how
atomic radius vary in periods and
groups of periodic table. Why atomic
radius of oxygen is less than that of
beryllium ? 1+1+1=3

SRRT IPiE FIT Q2 e SRR
{7 W 37O SN JE @EwE TR
T Y K| SREER ARk g
RREmeE v e

(bp) What are Latimer diagrams? What are
the characteristics of Latimer diagrams ?

1+2=3

@foar o & 2 @lwe oz whdwz B
e
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(@)

Write the IUPAC names of the
following : 1x3=3

weTe RAPTERE IUPAC W< 31 8

() Fe,[Fe(CN)],
G) [cum,),]so,
(iii) [Pt (NH,)BrCl(ONO)|"

At what temperature will He have the

same r.m.s. speed as H, molecules
have at 27°C?

R Two® He I r.m.s. aifS0 H, 993
27°C TOR r.m.s. AR TR =9

Assign reasons for the following
statements : 12x2=3

e T IR et weedfan s

(i) The surface of a liquid behaves
as a stretched membrane.

TR o[0T AR < e e el
@I
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(9)

(ij) Cooling is always caused during

evaporation.

oMo TS Mo 1gos & |
Describe a method of determining
viécosity. 3
Aeret WA A AwfS @O T =0

How many Bravais lattices are
available in orthorhombic system ?
Name them. 1+2=3

yikye T @H @Sy @by o ¢

| TSP AW i

Answer any six of the following: 5x6=30

| wers e Riceear g519 Tt 3 ¢

(a) What is diagonal relationship. What is
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the basis of diagonal relationship?
Discuss this between lithium and
magnesium. 1+2+2=5

7 a5 & 2 of Tvs ofe & ¢ Flkaw
e e o e Rew ot

Contd.



(b) What is inertpair effect ? Discuss the

()

(@)

consequences of this effect ? Explain
this effect in case of Pb and TL

1+2+2=5

Rigm 11 e & 2 TR AR 31 eror
SISl A1 Ph W% TIF CFa© @3 3
ST I |

Explain the formation of [y (N
ion with the help of VBT. What will be

‘the magnetic moment of this complex ?

4+1=5
VBT ©%3 3RIT® [Ni (CN), P~ 2157 =51 3= |
@R TIFAGR TR AT et
Discuss the

(i) Oxidation state and

(i) formation of colored complex
behaviour of transition elements.
2%x2=5

() TR TG =

(i) RHES Tl AW ol A
G (TS 141 3 |
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|

(e}

(9)
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Write notes on: 2¥%x2=5

GCo o e

(i) Fullerenes
FefRe

(i) Jahn-Teller effect
TA-(5eTIY SR

Calculate the CFSE of [co (H,0)F*.

Why CFSE of tetrahedral complexes is
less than that of octahedral complexes ?
3+2=5

[co (H,0),}* I CFSEX w Sfeean

SRl (R TORS boFeeE (I
CFSE [ aw ¢

-~

Derive all the critical constants values
from the Van-der Waals equation. S

i GR TER TR [ TR 43T T
Tfereat|
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(h) For an elementary reaction 24+B — 3C

(i)

write the rate laws. If the rate of
appearance of ‘C’ at time ‘¢ is

13x10*mol L 15! , then calculate

(i) rate of the reaction

(i) rate of the disappearance of A at
this time 1+2+2=5

I @0t G RFM 24+B-3C 3

SR B Bt | I ¢ s ‘C SR

M 13x10*mol L5 = corm iz

ATACSR

(i) RRFIGR et e

fi) A Reem ifewet Bhvear)

Mention various methods for the
determination of the order of a

reaction. Write any o methods in
detail. 1+2+2=5
RieR T Rl afRsts RfSn smmfeam
o | R o1 s IZENR ot |
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0)

A first order reactions is completed
20% in 10 minutes. Calculate the

following : S

Bt 2w TR R 20% 7= e W
et 10 RfRG | @S Sort faan s T Rerm

903
(i) the rate constant

oIS g9 T

(i) The time taken for the reaction to
become 80% complete

RIS 80% F=ojf Rea w9l
(iii) The half-life period of the reaction.
RieABR S F |
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